Maths - Friday 10th July
All the challenges are in this document – scroll down to the one you want to do OR have a go at them all! Each one gets a bit more difficult so see how many you can do!
Complete your calculations below.
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Challenge 1

Rani has 38p.

I have I0p more

than Rani. @9
I have 20p less

than Eva.

How much money does Eva have?
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Challenge 2

If

Yy O

and

.x.=|00

Work out the value of

A
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Challenge 3

Asequence is made up of three 2-digit numbers.

‘The sequence increases by eight each time. These are the digits that make up
the three numbers.

012/(3/[u/[u//s|

Work out the numbers in the sequence.
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Challenge 4

A square is divided into smaller squares.

What fraction of the square is shaded?
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Challenge 5

The mass of an empty jar is 470 g.

6 marbles are placed in the jar.

OOOOOD

The total mass of the jar and marbles is now 1.1 kg.
Two of the marbles are removed.

What is the mass of the jar and marbles now?




